H & 0l & AHS B Ml A

SN OIEIIED
33 g =X sd
ol ddESEatE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Rl =) 49,178,818 44,721,427 4,457,391
= 14,967,445
[ 1,658,613
Il 2,762,476
< 12,181,720
Al 17,608,564
od =X 58 7,838,779 6,954,377 884,402
= 2,092,897
Il 2,130,859
== 1,022,478
Al 2,592,545
dgySEatEat 46,990 75,190 A\28,200
[ 2,987
Al 44,003
HEEHHAK A 20,700 23,420 A2,720
203 HR=&H] 3,000 3,000 0
03 A=A RN 3,000 3,000 0
OWEIIE A=A 3,000
301 EtE N = 2,700 5,420 N2, 720
11 #AIAMHIXIE S 2,700 5,420 N2,720
O L&A BIF 24
100,000& +5& 500
O At ot 24
14, 00021 *4024*23] 1,120
OESEEC ALI2TO Y HI|0ix3
EP=N 18,0003 x30& »23] 1,080
307 el2to| & 15,000 15,000
1 AMISXAEEXS 15,000 15,000
OLdESF2 J|gdAL X 15,000
ORI ALK R (EX) 9,170 13,150 A3,980
< 2,520
Al 6,650
307 elztol & 9,170 13,150 23,980
S 2,520
Al 6,650
11 AMEISXAEEES 9,170 13,150 23,980
OWEEH St 9,170
= 2,520
Al 6,650
e IHE X 5,800 5,800
201 fer= 3| 5,800 5,800
01 At 2|l 5,800 5,800
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SN OIEIIED
33 od =X &
el OEeEXE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 1,026,666 534,060 492,606
Jl 513,333
== 154,000
Al 369,333
10 Al2ISTIAIEEE 22X 368,900 3%4,620 NP5, 720
OE&Al JI=4H 22 368,900
Jl 184,450
=S 55,335
Al 129,115
11 AMEISXAEEES 657,766 139,440 518,326
Ot2IFURASS2 24 44,900
J| 22,450
=S 6.735
Al 15,715
OF e AJDtE S& X 360,540
Il 175,270
=S 52,581
Al 122,689
Ot=shtE M A& 262,326
Jl 131,163
=S 39,349
Al 91,814
CHESHE 221s 160,216 239,583 AT9,367
= 80,108
= 24,032
Al 56,076
307 @I2t0| & 160,216 239,583 AT9,367
= 80,108
= 24,032
Al 56,076
1 AMEISXAIEEXS 160,216 239,583 AT9,367
OU=2=hIE SE2UF 160,216
= 80,108
= 24,032
Al 56,076
ZE0I12A SHAAHIA XS 136,400 131,252 5,148
= 68,200
= 20,460
Al 47,740
307 elzto| & 136,400 131,252 5,148
= 68,200
[ 20,460
Al 47,740
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33 od =X &
el GOEsEIIE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
11 AMEISXAEEES 136,400 131,252 5,148
OZE0I2A SHANHIA XE 136,400
= 68,200
< 20,460
Al 47,740
ZEOIYUX SHAA FOLXIE (XHA) 60,900 58,000 2,900
307 elztol & 60,900 58,000 2,900
11 AMEISXAIEEXE 60,900 58,000 2,900
OZE0I2A SHSAL FIOHAE 60,900
CrEEAE A0S E R 40,590 39,344 1,246
= 20,295
= 6,088
Al 14,207
307 elzto| & 40,590 39,344 1,246
= 20,295
< 6,088
Al 14,207
11 AMEISXIAEEES 40,590 39,344 1,246
Ot=2=tE Tt AZEX 40,590
= 20,295
== 6,088
Al 14,207
Ols0l sk 83,110 36,031 48,079
= 41,555
== 12,466
Al 29,089
307 212+01& 83,110 35,031 48,079
= 41,555
S 12,466
Al 29,089
1 AMISXAIEEX 83,110 36,031 48,079
O0I=0 SsXlE 83,110
= 41,555
= 12,466
Al 29,089
ZE012N SR 20,000 20,000 0
= 10,000
= 3,000
Al 7,000
307 el2to| & 20,000 20,000 0
= 10,000
= 3,000
Al 7,000




SN OIEIIED
33 od =X &
el GOEsEIIE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
11 AMEISXAEEES 20,000 20,000 0
OZE0IBR} ASLSXZ (B =0 F) 20,000
= 10,000
< 3,000
Al 7,000
IS SAK EHIXJ 97,253 87,710 9,543
= 29,176
Al 68,077
301 EtE N = 42,120 0 42,120
= 12,636
Al 29,484
02 A EEHS(FANE, XLTHE) 42,120 0 42,120
OJEHIE SAK =X+ 42,120
s 12,636
Al 29,484
307 elztol & 55,133 87,710 N32,577
S 16,540
Al 38,593
10 Al SXAIEEHE 22X 55,133 87,710 N32,577
OJIEHE SAKLE 18] & ¢ 55,133
= 16,540
Al 38,593
CH230tE DEUS0l A 16,800 35,000 /18,200
== 5,040
Al 11,760
307 212+01& 16,800 35,000 18,200
[ 5,040
Al 11,760
11 AMEISXAEEES 16,800 35,000 A 18,200
OLH23HE DEUS0l A 16,800
= 5,040
Al 11,760
=22 =" 125,000 122,700 2,300
= 43,750
Al 81,250
307 @I2to1 & 125,000 122,700 2,300
== 43,750
Al 81,250
11 AMRISXAEEES 125,000 122,700 2,300
O224 li=sg 29 125,000
< 43,750
Al 81,250
ZE012L NEXE SEAS 11,500 22,000 210,500
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Ol&ot=0t

33 od =X &
el GOEsEIIE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 4,600
Al 6,900
307 lztol & 11,500 22,000 10,500
= 4,600
Al 6,900
11 AMEISXAIEEXS 11,500 22,000 10,500
OZ&012Xt stE X 3,300
= 1,320
Al 1,980
OZ &0t MHEHWF 8,200
< 3,280
Al 4,920
Z2E012X S RHFSHIS N 3,900 0 3,900
= 1,170
Al 2,730
307 el2to| & 3,900 0 3,900
= 1,170
Al 2,730
11 AMEISXAIEEXS 3,900 0 3,900
OZ=012K & =HFSHIE NN 3,900
s 1,170
Al 2,730
CH2aOEE R A AR (RHAD) 37,500 38,900 1,400
301 LELEN S 4,800 5,400 A600
02 AR 2EH LGS (FHAAS, NSWE) 4,800 0 4,800
OBSARNEAI SX4E
50,0002+~ 12 4,800
307 el2to| & 32,700 33,500 2800
1 AMEISXAIEEXS 32,700 33,500 A800
Obtsd&d XA 27,000
Ot2=tE st AlE A 5,700
ZE012X HEE Fst 2HEE FASAE At 7,000 10,000 3,000
307 elztol & 7,000 10,000 23,000
11 AMEISXAEEES 7,000 10,000 A3,000
OZ&0/12kt 2885 HSXE 7,000
CrEshtEd A A 17,220 21,720 24,500
201 Ler=23 | 1,420 1,420 0
01 AtR2telHl 1,420 1,420 0
OttzstENdg s B4+d
70,0002 x6EH*13] 420
OEHAIIIBHE 2 1,000
301 2eEN=S 800 800
11 dALEEIXIRE S 800 800
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33 od =X &
el GOEsEIIE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OCIZEDIE 243 #A B2y
20,0003 »40 800
307 gl2to| & 15,000 19,500 /4,500
1 AMISXAIEEXS 15,000 19,500 A4,500
Ott2=htd stetetite 12,000
OZ=0I2Ikt otE-Z SIIAY 3,000
SRAINEHE 2S(XA) 165,500 106,838 58,662
202 04l 3,000 3,000 0
01 2LHoIH 3,000 3,000 0
OEJADIIEMEH XNEEH 22 3,000
307 elztol & 162,500 103,838 58,662
10 Al SAAEEHE 22X 162,500 91,838 70,662
OEHAIJIELH SAHL S8+ A& 180,500
Og3AIIEMH SUHEXE 12,000
CH23tE DELIS0! AP (REAI) 50,000 50,000
307 212+01& 50,000 50,000
11 AMEISXAEEES 50,000 50,000
OLHE3HE DEUS0l A 50,000
Cteket Dt X 3,518,109 3,252,878 265,231
= 1,872,739
7l 141,780
= 404,503
Al 1,009,087
ERAL 2(0n)ItSdE A (XHA) 72,000 0 72,000
403 AXIEHMSA=01d 72,000 72,000
02 S7I2S0 e H=E 2 E AL 72,000 72,000
O=2(0n) JI=4IE HE HRUE =5 72,000
FLHRE Otse=EH A3 A 12,000 7,200 4,800
= 6,000
=S 2,400
Al 3,600
301 Eet2 NS 12,000 7,200 4,800
= 6.000
= 2,400
Al 3,600
01 Al EE AT S (2 RDEEMRA) 12,000 7,200 4,800
OFAERZ Ots2=H| 12,000
= 6,000
= 2,400
Al 3,600
d2de tgxyd RFRuUs N& 5,000 5,000 0
=S 1,500
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33 od =X &
=l oretet tEEH N2 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 3,500
307 gl2tol & 5,000 5,000 0
=S 1,500
Al 3,500
11 ARRIS XA E X 5,000 5,000 0
OdZelExd fF2usI2 5,000
< 1,500
Al 3,500
Q=010 XHga dsd X2 14,000 10,000 4,000
= 14,000
307 @I2t01 & 14,000 10,000 4,000
< 14,000
1 AMEISXAIEEXS 14,000 10,000 4,000
O2=o1=0 XHEx &S K& 14,000
= 14,000
SS=0LIsH 29 294,940 287,170 7,770
Jl 141,780
[ 60,126
Al 93,034
301 LEIE NS 11,380 0 11,380
= 3,414
Al 7,966
02 MBI 2HHSFHS(HAAS, XLHE) 11,380 0 11,380
O3SH0tLsHE AL =E(SHS ¢Y) 11,380
= 3,414
Al 7,966
307 @I2t01 & 283,560 287,170 A3,610
Il 141,780
= 56,712
Al 85,068
1 AMEISXAIEEXS 283,560 287,170 23,610
O3S=|0tLtsH 23(2X) 283,560
Jl 141,780
= 56,712
Al 85,068
BSF0tLIsH 2F(XHAI) 21,850 18,750 3,100
307 gl2to| & 21,850 18,750 3,100
10 AlISXAZEE 22X 3,100 0 3,100
Oss=0iLi=H gliig S X& 3,100
1 AR SXAIEE X 18,750 18,750 0
Oss=s0tLse =208l S K& 18,750
OlOIES RFAMS(EX) 2,666,769 2,382,346 284,423
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33 od =X &
=l oretet tEEH N2 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 1,866,739
=S 320,012
Al 480,018
307 @I2to| & 2,666,769 2,382,346 284,423
= 1,866,739
= 320,012
Al 480,018
1 AMISXAIEEXS 2,666,769 2,382,346 284,423
ootol=ss X& 2,666,769
= 1,866,739
= 320,012
Al 480,018
OlI0I=S 20l MMHL XA 11,910 2,730 9,180
=S 3,573
Al 8,337
307 @I2to| & 11,910 2,730 9,180
== 3,573
Al 8,337
11 AMEISXAEEES 11,910 2,730 9.180
OOtoI==20| AZ&ddHl XA 2,910
& 873
Al 2,037
OO0t0l=20I gotsa+¢ N 9,000
= 2,700
Al 6,300
=M Ot0l 014 OoIESSAHIA 2E2XE 410,000 367,992 42,008
307 @I2t01 & 410,000 367,992 42,008
11 ARISXAIEE X 410,000 367,992 42,008
OSMOI&AtH OtolSSAHIA S X2 AL
& 410,000
100 Jh=t =4 o™ &= NZ0| At 9,640 4,840 4,800
= 2,892
Al 6,748
307 el2to| & 9,640 4,840 4,800
= 2,892
Al 6,748
1 AMISXAIEEXE 9,640 4,840 4,800
O121 It =1 etd &2 XZ0l At 9,640
== 2,892
Al 6,748
SIRIIIEXA 1,631,620 1,522,660 108,960
Jl 1,174,584
s 195,840
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X XH -
o=

Ol&ot=0t
od =X 58

Chel: SHR2IIEIZ (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2

Al 261,196

SIRRIIELE 2=sHl S X2 1,458,330 1,386,234 72,0%
| 1,166,664
& 145,833
Al 145,833

301 LPENSZ 1,458,330 1,386,234 72,096
J| 1,166,664
= 145,833
Al 145,833

01 Al B&XHZ2(2REETA) 1,458,330 1,386,234 72,0%
OetR2I=sAH L=Hl S K& 1,458,330
| 1,166,664
= 145,833
Al 145,833

HAUESIREE X 9,900 11,876 21,976
| 7,920
T 990
Al 990

301 LetEHZ 9,900 11,876 21,976
| 7,920
T 990
Al 990

01 AISIBE X 2GS (2 LEXTME) 9,900 11,876 21,976
OFAHSREE XA 9,900
| 7,920
& 990
Al 990

MNAS REIIIE MEXE XA (EX) 163,390 124,550 38,840
T 49,017
Al 114,373

301 LetEHZ 163,390 124,550 38,840
= 49,017
Al 114,373

01 Al B&XHZ2(2REETA) 163,390 124,550 38,840
OMAS eR2I0HE MEXE X JAALY 163,390
& 49,017
Al 114,373

HAASE 582,505 547,432 35,073
| 301,162
& 115,366
Al 165,977

NYE=HM4EA 2GR 236,785 229,226 7,559
J| 107,209




SA HEIEED
a0l =X =3
el odAesd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 60,315
Al 69,261
307 lztol & 236,785 229,226 7,559
Jl 107,209
== 60,315
Al 69,261
10 Al2ISTIAIEEE 22X 236,785 229,226 7,559
OJtg=edg4a 29 N2 236,785
Jl 107,209
=S 60,315
Al 69,261
IEZATNA ESAE SN (B4 SIHISS 245,981 240,622 5,359
KAAH+EHES)
Il 161,013
== 38,520
Al 46,448
307 212+01& 245,981 240,622 5,359
Jl 161,013
= 38,520
Al 46,448
10 AlISXAIZEHE 22X 236,348 228,891 7,457
OIIE =4 Uikt 2EsAl4 22 236,348
Il 151,570
= 38,425
Al 46,353
1 AMISXAIEEX 9,633 1,731 22,008
OJHE =8 Lokt Mg =&l 633
Il 443
= 95
Al %
O ZLNIHMHESAIE Hi==2 A M 9,000
Il 9,000
HEZATHA ESAE 2SR (MH2I1s2Y) 26,234 5,000 21,234
Jl 13,117
= 6,559
Al 6,558
402 2I2F X201 & 26,234 5,000 21,234
Jl 13,117
[ 6,559
Al 6,558
02 QI X2 AL EE (01X THE) 26,234 5,000 21,234
O E =T AESAIE JIsES 26,234
Il 13,117
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SA HEIEED
a0l =X =3
el odAesd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 6,559
Al 6,558
I ELNIHA ESAlE EIAA IHEXIA 10,000 7,500 2,500
Il 10,000
301 2eEN= 10,000 7,500 2,500
7l 10,000
01 Al EE A S (2 RNEXMA) 10,000 7,500 2,500
OIS =0 &4 Al IHE XA 10,000
Il 10,000
JHEEE Lokt Ms2s 220 9,397 20,987 A11,590
) 6,577
& 1,410
Al 1,410
307 elztol & 9,397 20,987 A11,590
J| 6,577
< 1,410
Al 1,410
11 AMEISXAEEES 9,397 20,987 A11,590
OJIE=4Iloi At X=els T2 9,397
Jl 6,577
s 1,410
Al 1,410
JHE=ATIcHA 2=Hl X 1,258 3,124 1,866
Jl 880
=S 189
Al 189
307 @I2t01 & 1,258 3,124 A1,866
2l 880
= 189
Al 189
012z & a=Hl 1,258 3,124 1,866
OJHE =0 A 2| =] 1,258
Il 880
= 189
Al 189
S== WollAt 2l=Hl, 238 X3 3,380 1,335 2,045
Il 2,366
= 507
Al 507
307 el2tol & 3,380 1,335 2,045
) 2,366
= 507
Al 507
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SM: OIS
Hu: o =X S&
X

=t g sd EEED
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| 1] Al 3,360
orsdad s S8 14,576,999 12,683,842 1,893,157
= 3,021,033
[ 1,384,755
Jl 631,617
[ 2,992,908
Al 6,546,686
230ts XI& 1,337,849 931,065 406,784
= 617,348
[ 92,112
Il 52,727
< 183,385
Al 392,277
OlsEs g% =4 20,700 20,700 0
201 el 8,300 8,300
01 At22t2lt] 5,900 5,900
OOlSstTI2E 913 S 319 HAsg
70,0003 %1073 4,900
Ootsslh Mg =s2=5 M= 1,000
02 S3=gHl 2,400 2,400 0
OgRs sl 23|
40,0002 #5CH* 122 2,400
202 04l 2,400 2,400
01 2LHoIH 2,400 2,400
OOttt 2l g =& 2,400
301 EtE N = 10,000 10,000 0
02 A2 XSG (FHAAHS, NLWE) 10,000 0 10,000
Ostiulciots 21=2sH & LA2SH]
= 10,000
OSZ LT AHIHCIGNAISE) X 746,498 333,205 413,293
=2 522,58
< 111,975
Al 111,975
301 EetE2 N = 746,498 333,205 413,293
= 522,548
= 111,975
Al 111,975
01 Al EE A2 (2RNEXMR) 746,498 333,205 413,293
OOtsE2 XA X 746,498
= 522,548
S 111,975
Al 111,975
OlsEs Mged 22(BEX) 127,791 112,800 14,991




AT HEIED
B OlSHAE =X Z&
&elr 2s0ts X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 2,112
=S 11,514
Al 24,165
101 21AH| 112,791 97,800 14,991
[ 80,112
= 10,014
Al 22,665
02 JIEtME = 79,411 65,200 14,211
OolsEsEE Qe Xd
39,705,500 2 79,411
[ 53,408
= 6,676
Al 19,327
04 JIZtN2Z2 XS 2+ 33,380 32,600 780
OltsE3dEed A&
33,380,000& *1 33,380
[ 26,704
= 3,338
Al 3,338
201 et 3| 2,500 4,500 /2,000
[ 2,000
= 250
Al 250
01 AtR2t2|HI 2,500 4,500 22,000
O0lsE25dR (s H&+E S) 1,400
[ 1,120
= 140
Al 140
Ogsdadd 2R=8 7Y 1,100
[ 880
= 110
Al 110
202 048l 4,500 4,500 0
[ 3,600
= 450
Al 450
01 =LHAHI 4,500 4,500 0
Olls2sgs =
100,000 x3&* 122 3,600
[ 2,880
= 360
Al 360
O0tsEsdgRE WSH|
300,000 3 900
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2A: HAIE
HH: OlSHAE =X B
tel: 250ts K& (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
= 6,480
Al 15,120
LLotsL=s X 62,400 84,824 A22,424
J| 43,680
= 9,360
Al 9,360
301 LBBNSZ 62,400 84,824 AN22,424
| 43,680
& 9,360
Al 9,360
01 AISIBEH 2GS (2 LEZME) 62,400 84,824 A22,424
Oggots s A 62,400
| 43,680
T 9,360
Al 9,360
HdEZ0l=sE 3| 12,000 12,000 0
= 8,400
T 1,200
Al 2,400
301 LB F 12,000 12,000 0
= 8,400
& 1,200
Al 2,400
01 AISIBE XS (2 NETME) 12,000 12,000 0
O&Z0t=sE3H| 12,000
= 8,400
& 1,200
Al 2,400
OIS LARE XS 7,524 0 7,524
J| 5,267
& 1,128
Al 1,129
301 LPBENZ 7,524 0 7,524
| 5,267
= 1,128
Al 1,129
01 Al B&X2HZ2(2REETA) 7,524 0 7,524
OHMOISLUAASEEAS(NEAY HAE) 7,524
| 5,267
& 1,128
Al 1,129
ALHIZXIA 2,700 0 2,700
| 1,890




od
i’
o
uJ

-

KIO

Hlw

2,700
2,700
2,000
2,000
2,000
700
700
700

229,500

10,712

MEE
Ofl &k2h

278,942

237,182

Ofl &F2H

405
405
2,700
1,890
405
405
2,700
2,700
1,890
405
405
2,000
1,400
300
300
2,000
1,400
300
300
2,000
2,000
1,400
300
300
700
490
105

105
700
490
105

105
700
700
490
105

105
508,442
113,156
84,237
311,049
247,894

Il

i

Iy

Al

99,156

fir

- HyS

- SRA(E) - HIRAY

S - B

(HIR A}

2|

e
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=]
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Ols=EXIAIE X
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St
=l
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AT HEIED
B OISHLE =X B
l: OFS=XIAIE X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 74,369
Al 74,369
307 lztol & 247,8%4 237,182 10,712
= 99,156
== 74,369
Al 74,369
10 Al2ISTIAIEEE 22X 247,8%4 237,182 10,712
OstiiulsfiotsdE =29 X 247,894
= 99,156
=S 74,369
Al 74,369
SIHIIoHOtSEE SAAH M2 XI& 9,560 11,760 2,200
< 2,868
Al 6,692
301 EtE NS 9,560 11,760 A2,200
= 2,868
Al 6.692
01 Al EE A2 (2RNEXMR) 9,560 11,760 A2,200
OStHIIoHOts S El SAA &2 2,000
= 600
Al 1,400
OstHIIoiOtSaH SALR SEY 7,560
S 2,268
Al 5,292
Olssitl R2u= 30,000 30,000
307 elztol & 30,000 30,000
11 AMEISXAIEEE 30,000 30,000
OOttt s et 22 st 30,000
HSSROISEsd20I12 28 MM f83 192,988 192,988
308 AXIHSOIA 192,988 192,988
07 HXHH 2L RES 192,988 192,988
OXFOtSESHII|Z XX 222 192,988
OrSSHHEAI e1Zet JIsE2E2 A 28,000 0 28,000
= 14,000
= 7,000
Al 7,000
402 2I2F X201 & 28,000 0 28,000
= 14,000
= 7,000
Al 7,000
02 QI X2 AL E R (01X THE) 28,000 0 28,000
Osttiulaiotsdt JIs2Ed 28,000




SN OIS

Mo OSHAE =1 EX
l: OFS=XIAIE X (SH9 H2)
CHB . S (BIH) - NIRAY - 0l o A
= 14,000
T 7,000
Al 7,000
4,855,775 5,213,116
= 2,246,843
| 202,500
== 1,317,466
Al 1,088,966
1,646,000 1,646,000
J| 202,500
= 836,000
Al 607,500
o= 1,646,000 1,646,000
J| 202,500
T 836,000
Al 607,500
B 2(2LEXM 1,646,000 1,646,000
= ots34A K& 810,000
J| 202,500
Al 607,500
SIS Ots=4! K& 836,000
& 836,000
3,209,775 3,567,116
= 2,246,843
T 481,466
Al 481,466
S 3,209,775 3,567,116
= 2,246,843
& 481,466
Al 481,466
H4o12(3EETY 3,209,775 3,567,116
A= 3,209,775
= 2,246,843
& 481,466
Al 481,466
sde & 49,100 0
OtsS&ISIEAl =4 49,100 0
201 Let23H| 19,100 0
01 At2teldl 19,100 0
O0ts&E® 2o 29 8,000
Oo0ts#e 88 & =8 9,000
OO0ISESEAl AT A
15 *25|%70,000& 2,100
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AT HEIED
ZH: OISHAE =7 58
cels ofsdcel sd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
207 ARl 30,000 30,000
01 H1E4H] 30,000 30,000
OOtsalat=Al 224 A& =& 30,000
Ols=XwA 2SI 486,348 507,171 A20,823
[ 227,940
= 113,970
Al 144,438
Ots= X WAL IHA 30,468 45,085 A14,617
101 @124H| 28,800 44,085 N15,285
MU IIRIMZZENSES 28,800 30,000 1,200
OOIE=X WAF =X &
100,000 x24H = 12& 28,800
201 fer=3| 1,000 1,000
01 AtR2t2|HI 1,000 1,000
OO0tEs= X LA AFEF=EH| 1,000
303 Zai= 668 668
01 ZA2 668 668
OZ2E(NAABIZTIAL) ABA0IS
2,225,420 (J1:2 2 )*30% 668
OlSSXILAL A (EX) 455,880 462,086 26,206
[ 227,940
S 113,970
Al 113,970
101 @124H| 455,880 460,086 N4,206
= 227,940
< 113,970
Al 113,970
M JIZtHZ2 RS2 455,880 426,201 29,679
OO0ts= XL AF 21 24H| 455,880
s 227,940
s 113,970
Al 113,970
XS 0otsHE K& 4,004,237 3,768,417 285,820
s 1,064,703
s 922,757
Al 2,006,777
AgotsdE 2 A& 420,814 382,760 38,054
201 =3 1,500 1,500 0
01 At22t2l] 1,500 1,500 0
OXSotsHE g2 =& 1,500
202 04l 1,200 1,200
01 2LHoIH 1,200 1,200
OXNSotSHE N8 2 1,200

_21_




AT HEIED
B OlSHAE =X Z&
&elr XEotsay X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
301 EtE NS 410,014 332,710 77,304
02 A2 EH 2GS (FHAAHS, XNLWE) 410,014 0 410,014
OXNS0ISHE SAHAL X+
130,000 x48H * 12& 74,880
OXIS0tSHIE AL 25+ 34,310
OXlgotsHt S4=<01 X3 200,354
OXIS0tSHIE! AOtAte elddl K& 100,470
307 elztol & 8,100 47,350 A39,250
11 MEISXAEEXS 8,100 47,350 A\39,250
OXEotsHE SgMsUz A& 5,400
OXgotsHt MseHsl K& 2,700
XSotsHlEe 22 X&(2X) 347,556 350,206 A2,650
[ 173,778
= 86,889
Al 86,889
307 gl2to| & 347,55 350,206 A2,650
[ 173,778
= 86,889
Al 86,889
10 Al SXAAEEHE 22X 347,556 350,206 2,650
OX<SotsHE JI222Hl X 342,756
= 171,378
< 85,689
Al 85,689
OXS0tsHE Fot2dsl A& 4,800
= 2,400
< 1,200
Al 1,200
XSotsHlE 2l24Hl XI&(2X) 1,756,650 1,573,060 183,590
= 878,325
< 439,163
Al 439,162
307 elztol & 1,756,650 1,573,060 183,590
= 878,325
== 439,163
Al 439,162
10 AlRISTIAEEE 22X 1,756,650 1,573,060 183,590
OXS0otsHlE 2l X 1,756,650
= 878,325
=S 439,163
Al 439,162
XS 0tsHE 288l =IHKIE 13,800 13,800 0
< 4,140




2A: HAIE
ZE: OISHAE =T 58
cel: XGotsdH XA (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
Al 9,660
307 212+01™ 13,800 13,800 0
T 4,140
Al 9,660
10 Al = XA EHE2FHIE X 13,800 13,800 0
OXI0ots4lEe 2gHl FIHKIE 13,800
= 4,140
Al 9,660
XS 0otsHlE 214l FIHKIA 179,890 81,624 98,266
& 53,967
Al 125,923
307 212+01™ 179,890 81,624 98,266
& 53,967
Al 125,923
10 Al =SXAEBHE2IHIEX 179,890 81,624 98,266
OXN<Y0tsHIe elHH| F=IOHXIA 179,890
& 53,967
Al 125,923
S49 XNQ0tsHEH F=ot K& 25,200 26,640 A1,440
iy 12,600
T 6,300
Al 6,300
307 2I2+0l ™ 25,200 26,640 A1,440
= 12,600
& 6,300
Al 6,300
10 Al S XA EEHE2IHIE X 25,200 26,640 A1,440
OS+=8g XA0tSHE =K 7,200
= 3,600
& 1,800
Al 1,800
OER2Y XNY9ots4dH =IHKIE 18,000
= 9,000
& 4,500
Al 4,500
XEotsSHdEe T2 8| =0t XI& 192,327 192,327 0
T 57,698
Al 134,629
307 2I2+01 ™ 192,327 192,327 0
= 57,698
Al 134,629
10 IS SXAIEHE2ZHIEX 192,327 192,327 0
OXI0otsHdE T2 88| =IHKI& 192,327
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AT HEIED
Hm: OlSHAE =X ZW
el NS0tsdlE K& (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 57,698
Al 134,629
XSotsHE Ots=4 X 1,020,000 1,020,000 0
= 255,000
Al 765,000
301 EtE NS 1,020,000 1,020,000 0
=S 255,000
Al 765,000
01 Al EEHS(FRDEXMH) 1,020,000 1,020,000 0
OXIE0lsHE Otss4 A 1,020,000
< 255,000
Al 765,000
KNS OISHE AL S8+ 79,200 79,200 0
= 15,840
Al 63,360
301 EtE N = 79,200 79,200 0
= 15,840
Al 63,360
01 Al EE A S (2 RNEXMR) 79,200 79,200 0
OXS0tsHE SAINSEE 79,200
s 15,840
Al 63,360
KSOtSHE SAIL BE S 18,800 18,800 0
& 3,760
Al 15,040
301 LEtE NS 18,800 18,800 0
= 3,760
Al 15,040
01 Al EE A S (2 DEXR) 18,800 18,800 0
OXNS0tSHE SAINEE - 18,800
= 3,760
Al 15,040
4 2= A 2,502,063 1,402,465 1,099,598
= 42,186
) 214,346
& 341,441
Al 1,904,090
FAEAE JIsES 500,000 10,000 490,000
401 Al HIZ 2018 460,000 10,000 450,000
01 Al&HI 460,000 10,000 450,000
OZrdpiat JISEL(FUF00A) 100,000
OXlclatd HAE SYESHE X=d 360,000
405 AtatE = 40,000 0 40,000
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2A: HAIE
HH: OlSHAE =X B
el Had a5 X3 (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
| 25,368
Al 25,368
307 212+01 A 50,736 48,816 1,920
| 25,368
Al 25,368
05 QIZIRIEr S 50,736 48,816 1,920
O3SELESAE EAEXITAF BHXI K
& 50,736
oGt 25,368
| 12,684
Al 12,684
HAER2SE 25,368
| 12,684
Al 12,684
o SEAd 2R 22 XA 2,000 2,000
307 212+01™ 2,000 2,000
05 QIZtRIErZ 2,000 2,000
OFALYE >EAl4d 2F9(2s 2 2,000
A8 gas0optd0l 29 377,956 356,444 21,512
| 188,978
& 56,693
Al 132,285
307 2I2+01™ 377,956 356,444 21,512
| 188,978
& 56,693
Al 132,285
05 QIZtRIEr S 377,956 0 377,956
OoFAiAdgu=soptaol 249 377,956
= E S Bt P 188,978
| 94,489
& 28,347
Al 66,142
HAEESE 188,978
| 4,489
& 28,346
Al 66,143
HAE SRS O0PHHI0I SAA HRHMH 33,508 33,882 A374
307 212+01™ 33,508 33,882 A374
05 IZteEe g 33,508 33,882 A374
OFLEEH2 AL MM 16,034
OFLERZSE SALAL MM 17,474
HA4E S0kl X 12,500 12,500 0
& 3,750




AT HEIED
B OISHLE =X B
chel: 344 g3 X3 (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 8,750
307 gl2tol & 12,500 12,500 0
=S 3,750
Al 8,750
02 QB AANSEER 12,500 12,500 0
O&ayd sotelgs XN 12,500
< 3,750
Al 8,750
dad HORE2 29 2,800 2,800 0
= 840
Al 1,960
307 el2tol & 2,800 2,800 0
= 840
Al 1,960
05 212+ =S 2,800 2,800 0
O34H B0 =2 2,800
== 840
Al 1,960
HEEAE 2HAMU=SE X 84,372 77,772 6,600
= 42,186
s 16,874
Al 25,312
307 @I2t01 & 84,372 77,772 6,600
= 42,186
= 16,874
Al 25,312
11 AMISXAIEEX 84,372 77,772 6,600
OZ2d AN (HEELE deIE2SNE
) 84,372
= 42,186
= 16,874
Al 25,312
FAUAE SEAY 500,000 0 500,000
== 250,000
Al 250,000
401 AIEHIZ R HYI 500,000 0 500,000
< 250,000
Al 250,000
01 Al&H| 500,000 0 500,000
OEHANEAH2E JIsEd 500,000
= 250,000
Al 250,000
F2EXNCA & SExE 44,280 0 44,280

_27_




od
i’
oF
uJ

3 8 2 8|8 < < < ) & 8 RN X
aq ¥ 5 % oo |o o ) o === =
Klo
E
o]

e ° 8 8188 3 8 8 X ¥ L TS |= S

S s|s|s s | |s <3 3 3 == =
u > SHEIE g |8 |8 5 5 5 Gldld |8
ol
il
RIS
Al D Ql [aN] Al
REEIZREQGBILBEIEEEEEEE8E888E38R8ARBERRIZRRIBE
2g¥ICEIITCSEIIE|B|B|B B ERISSS RS S |8 Y |8 |8 8 el|d|€€ &g
&
<
S
W=| U= H=| ~ W= Wl W Hl = =| =< ~ = ~
ar
£
BJ -
. — X
— I -
ol o L oF
= = _ a 30 o
oF Juo D > 0H =
< o< 7 o 0 o
o = 1[3] oﬂt < 30 T sl =
= X D oW v R 50
o n o & 2 S i 3 H z 01
— ® = = =
F + K ® us o o e 5 OF 3] | 80
o o R U =3 C30 B R m & g JLTS w10 o [oH
. il R0 K - Z|R|ir ¥ T D Rl ir <0 - zl wr | R)|ur -
= T H U = Wloloe @AYy |z |F¥ R =) F Rls|F o3
& 3 @ < RO Ol B e = s T ¥ TR v R & A AEIERE
RO all z R ) wlalla W - | |a |@ R W a) gl R 3|z ® |0
: 5 5 © < s |8 © L I A S g O mls |8 O|m
X © ) q4|® 4 & <4 & q|® <4
il g <4 0 &0 &0 ®0 R0
R0

_28_



2A:

Bl

3 Ols3d3A4E =X 3&
o HAA MelEM XA (Cre|: ®M2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
Al 51,000
307 212+01™ 102,000 100,102 1,898
| 51,000
Al 51,000
05 2IZteEer g 102,000 100,102 1,898
OFAHIMA(XGAZ HAHSE XK
) 29 102,000
| 51,000
Al 51,000
HAEOIMA MO XA 16,858 11,958 4,900
307 212+01™ 16,858 11,958 4,900
05 QIZIRIEr 16,858 11,958 4,900
OFALFHHML MRS XA 16,858
stug A48 XJHEH 29 88,642 86,558 2,084
| 62,050
Al 26,592
307 QIZt01A 88,642 86,558 2,084
| 62,050
Al 26,592
05 CIZtRAErZ 88,642 86,558 2,084
Ostugt 44 X dY 29 88,642
| 62,050
Al 26,592
S HAE XNJAEH MM 15,505 12,633 2,872
307 212+01™ 15,505 12,633 2,872
05 QIZIRIErZ 15,505 12,633 2,872
Ogtug 449 XJMEH XYM 15,505
st AaE gA& XA 10,000 8,000 2,000
| 5,000
Al 5,000
307 2I2+01A 10,000 8,000 2,000
| 5,000
Al 5,000
05 QIZtRIErZ 10,000 0 10,000
Ostu 5 #449 AKX 10,000
| 5,000
Al 5,000
HAE EEXE ALY 16,356 8,626 7,730
| 11,452
& 2,452
Al 2,452
301 LPENSZ 16,356 8,626 7,730
J| 11,452
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2A:

M Ols3Ead 5 S8
thel: dAd E58s A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Ouizloly gsA g 30,000
ol Foflatd 2A1e N 3,000 3,000 0
= 1,500
Al 1,500
307 @20l & 3,000 3,000 0
= 1,500
Al 1,500
02 QBN ER 3,000 3,000 0
OFad Roietd A 24 3,000
= 1,500
Al 1,500
25 58 26,302,402 24,601,845 1,700,557
= 9,853,515
= 42,000
== 8,120,627
Al 8,286,260
SAE 28X 25,898,402 24,599,845 1,298,557
= 9,693,515
=S 8,019,627
Al 8,185,260
Oelold 28 & SAEL X 1,138,300 865,900 272,400
201 et 3| 3,500 3,500 0
01 At22t2l] 3,500 3,500 0
ORSHHSAS HH+L
70,0002 * 10 *52] 3,500
202 04l 3,000 3,000
01 =LHA LI 3,000 3,000
Ongold XI=eEd 2l 3,000
301 EtE2 N = 1,084,800 812,400 272,400
02 AR 2HHLFS(HAAS, XNLHE) 1,084,800 0 1,084,800
OO0 2hA) XI& Ar
5002 x202+500 * 12 60,000
OO0iglol& 2+aldl XIZ 200,400,000 200,400
OAIZIAE Oiel0lE 2gHl X2
100,000& 3404 2+ 123 40,800
ONglold 2850/ 2124H] K&
200,000 «200 A+ 122 48,000
O0glold HAMTR0| 2124H] XI&
500,000 x267 A+ 12 156,000
OEFuA Hei+¢
100,000 x 1252 * 12 150,000
O0iglold Eoter 238l X
100,000& 16001~ 122 192,000
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A HAIED
M HES =X
o e o

= [
el EFAlE 28XE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SEEERENEEE
(800, 0002 +217H A+ 12712 ) +(500, 0002 6
2x120HE) 237,600
307 elzto| & 47,000 47,000
11 AMEISXAIEEXS 43,000 43,000
O0el0ld ESuXE 05 20,000
O0lold &Szl 2= 13,000
O0glold EsuX3 sotSHal 10,000
12 22 E W S| 4,000 4,000 0
OEFuid E+1SF 4,000
2SAE SXgy 403,510 422,608 19,098
= 116,703
Al 286,807
301 EtE NS 358,210 369,018 10,808
== 107,463
Al 250,747
01 Al 2E A S(SRNEXMHE) 368,210 369,018 10,808
OEsWAE XML 368,210
< 107,463
Al 250,747
307 elztol & 45,300 53,590 28,290
= 9,240
Al 36,060
11 AMEISXAIEEXS 45,300 53,590 8,290
O0elold ¢t X3 43,500
=S 8,700
Al 34,800
OFSXS Ooielold 2] 1,800
== 540
Al 1,260
SFuAE 28 € 2N 5,000,000 5,027,536 N27,536
= 2,500,000
[ 1,250,000
Al 1,250,000
307 elztol & 5,000,000 5,027,536 N27,536
= 2,500,000
== 1,250,000
Al 1,250,000
11 AMRISXAEEES 5,000,000 5,027,536 N27,536
OEsuAZ 24| XI# 5,000,000
= 2,500,000
= 1,250,000
Al 1,250,000
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AT HEIED
N P =X
ol ESAE 28X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
JOHOIEEAIE MHEEXD|F L SFWSES NSA 1,800 2,000 2200
(<2
307 el2tol & 1,800 2,000 A200
11 AMEISXAIEEXS 1,800 2,000 A200
OZOHot MEAIE EXD & MEXZI] A
2l 1,800
PSDNE Y NB(2XDA X RS N 1,175,412 1,200,000 £24,588
WA
= 587,706
= 293,853
Al 293,853
307 @120l & 1,175,412 1,200,000 N\24,588
= 587,706
= 293,853
Al 293,853
11 AMEISXAIEEXS 1,175,412 1,200,000 N\24,588
OESnA HRNLXZ(EZLAZ WA}
X&) 1,175,412
= 587,706
= 293,853
Al 293,853
DARZREZINEE(2 YDA £ DAIREEIAE KIR) 580,000 595,360 15,360
= 290,000
= 145,000
Al 145,000
301 EtE N = 580,000 595,360 15,360
= 290,000
< 145,000
Al 145,000
01 A EHATZ2(2REZME) 580,000 595,360 /15,360
OLAIZ2SEZNLHI (S AL XI&HI) 580,000
= 290,000
< 145,000
Al 145,000
2 HRVHE NS (SEESUA SE2R+E) 56,356 58,908 13,552
= 27,678
== 13,839
Al 13,839
301 22N = 55,356 58,908 A3,552
= 27,678
=S 13,839
Al 13,839
01 Al 2E A S(FRDEXMA) 55,356 58,908 A3,552
OsEESUAN SE2F+9 A& 55,356




AT HEIED
M 25 =7
ol ESAE 28X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 27,678
=S 13,839
Al 13,839
O12l01E M mAL XIS 46,000 120,232 NT4,232
= 23,000
= 11,500
Al 11,500
301 Eet2 NS 46,000 120,232 NT4,232
= 23,000
= 11,500
Al 11,500
01 Al EE A S (2 RDEERA) 46,000 120,232 NT4,232
OOCI2l0l& A mAE X2 46,000
= 23,000
= 11,500
Al 11,500
OHEloly 2LXA(sHEAT AIEISXIYAAHE0IE 5,240 6,360 21,120
2HIXH)
= 2,620
= 1,310
Al 1,310
307 el2tol & 5,240 6,360 A1,120
= 2,620
& 1,310
Al 1,310
11 AMEISXAEEXS 5,240 6,360 21,120
Os0Egel oelold K& 5,240
= 2,620
[ 1,310
Al 1,310
ORIl 2N (0loly X&E2a]) 33,747 42,480 18,733
= 16,873
< 8,437
Al 8,437
307 212+01& 33,747 42,480 A8,733
= 16,873
=S 8,437
Al 8,437
11 ARRIS XA E X 33,747 42,480 A8,733
Oxtg2gdl & 33,747
= 16,873
= 8,437
Al 8,437




AT HEIED
M 25 =7
ol ESAE 28X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O{elold 2SXI&(HE0lE niHm7l) 33,635 41,600 AT,965
= 16,817
== 8,409
Al 8,409
307 212+01& 33,635 41,600 AT,965
= 16,817
=S 8,409
Al 8,409
11 AMISXAIEEX 33,635 41,600 AT,965
OuM =l XI& 33,635
= 16,817
= 8,409
Al 8,409
AMZHIESAMEIA HSXA 10,000 0 10,000
= 5,000
= 2,500
Al 2,500
301 EtE2 NS 10,000 0 10,000
= 5,000
= 2,500
Al 2,500
01 Al EE A ZS(2REXMR) 10,000 0 10,000
OAIZIHIEFE MEIANIS 10,000
= 5,000
= 2,500
Al 2,500
IR0t 222 XA(02M 258 S) 4,930,8% 5,886,910 A956,016
= 3,205,081
< 690,325
Al 1,035,488
301 EtE NS 4,930,8% 5,886,910 A956,016
= 3,205,081
== 690,325
Al 1,035,488
01 Al 2E A S(SREXME) 4,930,8% 5,886,910 A956,016
O0-2M R0 2= 4,930,8%
= 3,205,081
=S 690,325
Al 1,035,488
IROIEFE N (FelHd 2528 S) 3,548,184 3,929,556 A381,372
< 3,547,608
Al 576
301 EtE NS 3,548,184 3,929,556 A381,372




A HAIED
M HES =X
o e o

= [
el EFAlE 28XE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 3,547,608
Al 576
01 A2 HSHS(RNEERTH) 3,548,184 3,929,556 N381,372
O35Ml el td 2858 S 3,545,784
= 3,545,784
OFs0ts gtz 2|2 2,400
S 1,824
Al 576
e Esg A 102,133 311,360 A209,227
= 66,387
< 17,873
Al 17,873
301 EtE NS 102,133 311,360 A209,227
= 66,387
== 17,873
Al 17,873
01 AR 2EHSHS(RNEXRTH) 102,133 311,360 A209,227
OoJggs=g A& 102,133
= 66,387
=S 17,873
Al 17,873
got=g A& 4,539,611 3,702,700 836,911
= 2,950,747
=S 794,432
Al 794,432
301 EtE NS 4,539,611 3,702,700 836,911
= 2,950,747
= 794,432
Al 794,432
01 Al EE A S (2 RDEXA) 4,539,611 3,702,700 836,911
OR2s0(d0t+g) X 4,539,611
= 2,950,747
= 794,432
Al 794,432
ool W Bis 3,212 5,280 A2,068
= 1,606
= 803
Al 803
301 EtE N = 3,212 5,280 2,068
= 1,606
< 803
Al 803
01 AR 2EHSHS(RDNEERTHE) 3,212 5,280 /2,068




AT HEIED
M 25 =7
ol ESAE 28X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Oolglold wa 248 XA (E+us]) 3,212
= 1,606
== 803
Al 803
2229 IHEsE XA 401,280 460,800 A59,520
= 120,384
Al 280,8%
301 EtE N = 401,280 460,800 159,520
= 120,384
Al 280,8%6
01 Al EE A S (2 RDEXMA) 401,280 460,800 A\59,520
ORZRE K25z A 401,280
=S 120,384
Al 280,896
oelols Es=<0l X 124,330 124,330 0
& 37,300
Al 87,030
307 glztol & 124,330 124,330 0
= 37,300
Al 87,030
11 AMEISXAIEEXS 124,330 124,330 0
ooglold 201 A& 124,330
= 37,300
Al 87,030
020y S2tAadl XI& 235,320 118,944 116,376
& 115,041
Al 120,279
301 2EN= 235,320 118,944 116,376
= 115,041
Al 120,279
01 AR 2EHSFS(RRNEXRTHE) 235,320 118,944 116,376
OO0y S2taidl X3 235,320
= 115,041
Al 120,279
Oglold 2SXE (HHotNE28d) 24,732 24,132 600
== 7,420
Al 17,312
301 22N = 24,732 24,132 600
< 7,420
Al 17,312
01 AR 2EHSFS(RNEXRTHE) 24,732 24,132 600
OZONOIE 20018 2H R 14| 24,732
= 7,420
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AT HEIED
M 298 =a
el EFAlE 28XE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
oopo|zds+ecldH ?&23 400,000
401 AIEHIX SO 5,000 5,000
01 Al&H| 5,000 5,000
oo B FeldH LEEHE AlS 5,000
Oelold OAMIEH 2l X1 50,400 70,800 120,400
== 156,120
Al 35,280
307 212+01& 50,400 70,800 20,400
< 15,120
Al 35,280
11 AMEISXIAEEES 50,400 70,800 220,400
OO el0lE OMIEr 2gH| X2 50,400
= 15,120
Al 35,280
020y 2egdl X3 1,347,984 864,960 483,024
=S 404,3%
Al 943,589
301 EetE2 NS 1,347,984 864,960 483,024
== 404,3%
Al 943,589
02 ARSI 2E AT S(FIANS, XNLHE 1,347,984 0 1,347,984
OO0gl0l& 3-5A41 223 1,347,984
& 404,3%
Al 943,589
SOISEXNHEH =Y 780,713 780,713
307 el2tol & 530,713 530,713
05 2I2tRIE =S 530,713 530,713
OF0tSEXNZHEH /E8=234| 530,713
405 AtaHE = 250,000 250,000
01 TR =S FISHI 250,000 250,000
Otz e ¥ JIAM &l 250,000
Q2L Olelold Eotet 244 X 10,800 0 10,800
& 3,240
Al 7,560
307 glztol & 10,800 0 10,800
= 3,240
Al 7,560
11 AMEISXAIEEXS 10,800 0 10,800
OuZbtENel0lE Sotet 284l A& 10,800
= 3,240
Al 7,560
=0ISEXNEHE 28X 16,000 0 16,000
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2A:

M 298 =a
el EFAlE 28XE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 8,000
Al 8,000
307 lztol & 16,000 0 16,000
= 8,000
Al 8,000
02 2IZHBYAIHE X 16,000 0 16,000
OS0tSEXNZdH F2UFA 16,000
= 8,000
Al 8,000
Y2XNHAIE WA QAH] FIOAEALS 274,795 0 274,79%
< 82,439
Al 192,356
307 212+01& 274,7% 0 274,7%
& 82,439
Al 192,356
11 AMEISXAEEES 274,79% 0 274,7%
OFSNAIL DER Q26| £} KA}
& 274,79%
= 82,439
Al 192,35
ESAE SZHA 84,000 2,000 82,000
[ 42,000
= 21,000
Al 21,000
Oelold etdoe 84,000 2,000 82,000
[ 42,000
= 21,000
Al 21,000
402 QI2F X201 & 84,000 2,000 82,000
= 42,000
< 21,000
Al 21,000
02 QI X2 AL EE (01X THE) 84,000 2,000 82,000
Oofgloly Jised 84,000
= 42,000
== 21,000
Al 21,000
=380e0ld &5 320,000 0 320,000
= 160,000
== 80,000
Al 80,000
SSHOE0IE &#F(EX) 320,000 0 320,000
= 160,000
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N -8 S2A(SIH) - HRAY - B

Ofl &F2H

MEE
Ofl &k2h

H

80,000
80,000

401 AIZHIZ 20

Mo

=

300,000
150,000
75,000
75,000

300,000

01 A<l

O=38 &JI1gxt o

o

OAt2l=X1E

e

22 M 229y

= H W

Mo

=

300,000
200,000
100,000
50,000
50,000
100,000
50,000
25,000
25,000

300,000

>

o
Jn

F

r

405 KHaHE SH

Mo

=

20,000
10,000
5,000
5,000

20,000

10,000,000%20H 2~

Mo

=

20,000

20,000
10,000
5,000
5,000

20,000

CEYHAERE

H0
02

SRR

=

401,128
231,858

45,707
123,563

419,793

A18,665

KN
R

HE OtsSEAHIA K&

Mo

311,176
189,222
23,653
98,301

304,355

6,821

"

2
x

o
O
o

StAMblA XIR

74,648

69,855

4,793

2
ro | o
v
=

33,448

28,455

4,993

>
[n
]
ol

=
0p
0
k]
0
o
x
I
=
B =
<
i

O
(=]
02 ofn
(0]

. 0r @
2
oy

&

AB0R*1Z+23[+1,348, 7103 x2Z +23]

)

04

04
2

=

140,000 «3* 1200 &

1> I
e >

1,129,550 12 +23|41, 123,930 & x2H +23|

33,448
33,448

8,106
5,040

6,755

28,455

4,993
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SN OIEIIED
M CYAEE 2%
el FAHES OIS SBAHIA X (Srol: 22)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
da2s=gkt=s
60,0002 x3* 1274 2 2,160
WL 40,00021#324 127} & 1,440
&=
140, 00021+ 121204 2+110, 00024+ 12 124 S
3,000
CARE 50,000 x3&* 120 2 1,800
NI 670, 980213 2,013
019} =2 At
104, 7762 x1&*1024+104, 3123 x2& 10! 3,134
201 et 3| 1,200 1,400 A200
01 At22t2l] 1,200 1,400 A200
Og A A=H| 600,000 22 1,200
301 EtEE S 40,000 40,000 0
02 AR 2EH LGS (HAAS, NLEWE) 40,000 0 40,000
OEEAEE X208 29 40,000
FHUNE OtsSEAMHIA XH(EX) 236,528 234,500 2,028
= 189,222
< 23,653
Al 23,653
101 @124H| 91,980 97,800 A5,820
= 73,584
== 9,198
Al 9,198
03 SRA(RIH )22 U2+ 91,980 97,800 25,820
OOtSSEAtIZtSIAL 21248| 91,980
= 73,584
=S 9,198
Al 9,198
201 =3 25,820 21,820 4,000
= 20,656
=S 2,582
Al 2,582
01 AtR2t2|H] 16,820 16,820 0
OEEAEE 23 AIR22| 14,120
[ 1,296
= 1,412
Al 1,412
OLEARE XN&JIF 28+ 1,800
[ 1,440
= 180
Al 180
OLEAHE RoBH E9 900
[ 720
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Ol&ot=0t
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CEYAERE
0

SRS

=g
tSSEAMHIA X~
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MEE
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|- MO

m 02

O S
In oy
v O

Im
0
W
H0
02
(=

03 A=Y
OZZ 8 A2

H

SRR

=

SRR

=

5,000
5,000
4,000
500
500
4,000
4,000
3,200
400
400

5,000

4,000

202 04|

SRR

=

12,720
10,176
1,272
1,272

12,720

01 S0

OLEAEE 823 WE S WSO

OO0tsSE At 2N ne 2 =2

= N3

Mo

=

12,720
3,000
2,400

300
300
9,720
7,776
are
gre

12,720

Mo

=

98,160
78,528
9,816
9,816

102,160

24,000

11 HAIMHIXI RS

OZ2 e HAMHIXIS

14 J|Et2 a3

OEZIH2H(LAE)

SAREY

=

SAREY

=

SAREY

80,160
80,160
64,128
8,016
8,016
11,000
11,000
8,800
1,100
1,100
7,000
7,000
5,600
700

102,160

A22,000

11,000

7,000

&
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SIS
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Otj;”
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OlsSEAEIA XA

S - B

- SHRA(BA) - NRAY - B Y

Ofl &F2H

MEE
Ofl &k2h

700

7,848
6,278
785
785

7,848

SRR

=

7,848

7,848
6,278
785
785

7,848

SRR

89,952
42,636
22,054
25,262

115,438

N25,486

7,000

26,000

1,000

1,000

1,000
1,000

1,000

SRR

=

12,000
6,000
3,000
3,000

12,000

307 212+01™

SRR

=

12,000
6,000
3,000
3,000

12,000

10 MEISXAIEHE2EHIEX

OUENESsSHH 234l X

i

SRR

=

12,000
12,000
6,000
3,000
3,000

12,000

H SSdIE bl XA (2

kA

)

gon
i

SRR

=

73,272
36,636
18,318
18,318

71,484

1,788

307 212t01d

Mo

73,272
36,636
18,318
18,318

71,484

1,788

11 MEIEXAEE
OtgNEsdE bl X

73,272
73,272
36,636

73,272
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